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Whether grapevines or whether any tree - J9°K 95 TRRY 2%153 TN

Overview

The mi1wn states that one must distance his tree four N»X from his friend’s field,
whether it is a grapevine or any other tree. The issue at hand is that since the 71wn
states '17°K 22 TIRY, why mention 0°193 at all?
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From the content of ''w9p previously, it seems that according to >"w", the 71wn

mentions '2°153 T1R', because the rules of 2°8%> apply to the 0°193. We can infer? this
from >"vo -
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Since *"w" there brought proof from this (our) 71wn, which states that when there
is a wall separating between the vineyard and a grain field, there is no prohibition
of 2°8%>, and this one may come up close to the wall on this side, and the other
one can come up close to the wall from the other side.

mooin disagrees:
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However, it does not appear to be correct, for when the 71w» here taught, ‘his

friend’s field’, perforce it was not discussing a seeded field (which grows grain, etc.) -
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For 707y 27 established in the X973 that our mwn, which requires distancing four
nnX from the neighbor’s field, is (only) discussing distancing trees from trees and

grapevines from grapevines -
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! See there 772 7"'7 *"wn, where he writes (regarding if there is a wall in between). 7210 AT 0137 NTIW? TW P PRY
MR XM 27193 AR (LR A7) 121 INRTI DOR2D XD TR 122 ST 1R TR 01 OKY IRIM TTA? MIPR 0 A1 IRO1 77A7 nuR
ih=kanivA
2>"w1 does not state clearly that the reason for mentioning o°193 is on account of 2°%23; however from his words (X
191 @°K?3 XD PR 127 ATW 31 TR 1), we can infer that *"w1 meant to say that the case of 0n1°2 773 77 explains why
he mentions 0193 since the 773 prevents the 2°k25 10X (as well; not only the issue of P11 npnan).
3 The prohibition of o°X?> with 0193 is (only) with grain, but not with other trees.
4 Later on this T1nv.
> The birds sat on the trees and descended on the vineyard and damaged it.
® This is 9010 conclusion (not in the X743), that the birds will settle on the 2’193 and damage the 2°v1. See ‘Thinking
it over’.
"It is evident according to mooN that 11721 77w cannot be discussing a D°Y77 77w, since that requires distancing more
than nmR 7. Since the 71wn is not discussing 2°¥71 YW 77w there is no 0°X7>.
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However, trees from 2°93 require greater distancing than n1X '7 because of the
birds, and for the same reason 23123 from 2’97 also require greater distancing —

mooIn offers his explanation why the 71w»n mentions 12°X 931 0°193:
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Rather it appears to no01n that the reason the 71w»n mentions > TINY 2°153 AN

%R (and not merely 12k 95 alone), is in order
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That we should not mistakenly assume (if the 71wn would only state 17°X) that the

amount of X''? distancing in our 71w» is only regarding 2°193 (but not other trees); the

reason we might mistakenly assume this is -
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Since we find this amount (of X"7) by 0°19) elsewhere regarding 2°8%>. Therefore,
the mwn needed to say 12°K 22 T1R) 0°103 71X that this ¥°w applies to all trees.

Summary
The 71wn mentions 0193, according to >"w7, to teach us that if there is a 772 there is

no 0°X?> MOX. According to NN it needed to mention 0°193 and 17°K, so we should
not mistakenly assume that distancing X"7 applies only to 19i.

Thinking it over

NS0 compares 21037 17X to 2wrh 1987 However, 19°X are large trees so it is
understood that the birds nestle there and go below to damage the vineyard.
However, 0%193 are low trees, and birds normally do not nestle there,! why do we
require greater distancing.!!

8 See x1m 1"7 X,7° '01n (TIE footnote # 2). We might therefore assume that since the 71wn here mentions X"7, so even
though it states 17X, we still might have thought that it means only o°193. Therefore, the mawn was explicit.
% See footnote # 6.
10 1f the birds nestle on the 0°193, why the need for greater distancing from 201937 N117°X, since the birds nestle on the
0°193 without the m1%°x?!
' See mwn nom.
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